

SIGNATURE PAGE

RFQ# F-58-2026

To the Board of County Commissioners of the County of Monmouth:

**THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.**

Company Name: J. R. Henderson Labs, Inc.
(PRINT)

Preparer's Name: Margaret Ellis
(PRINT)

Signature: M. Ellis 10/16/25
(DATE)

Address: 123 Seaman Avenue

Telephone No.: 732-341-1211

Fax No.: None

E-Mail Address: hendersonlabs.jrh@comcast.net

***** (This should be the email where Contracts would be sent) *****

Contact Person: Margaret Ellis

FEIN: _____
(Federal Employee ID)

PROPOSAL PAGES

**FURNISH VARIOUS LABORATORY TESTING AND ANALYSIS FOR VARIOUS
MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD
JANUARY 1, 2026 THROUGH DECEMBER 31, 2026**

GROUP 1 - DRINKING WATER TESTING AND ANALYSIS FOR THE DEPARTMENT OF FACILITIES MANAGEMENT				
Item #	Test Type	Unit Price	Quantity	Total Price
1	"Total" Coliform - Samples from four (4) wells to be collected on a quarterly basis for a total of 16 tests/year (4 tests/well) *	\$80.00 /test	16 TESTS	\$ 1,280.00
2	Nitrate - Samples from four (4) wells to be collected on an annual basis for a total of 4 tests/year.	\$60.00 /test	4 TESTS	\$ 240.00
3	Antimony, Lead and Arsenic Lab Testing - Samples from four (4) wells to be collected on a quarterly basis for a total of 16 tests/year (4 tests/well). Note: A report must be sent to the NJ Department of Environmental Protections for findings of all samples taken from the Monmouth County Fire Academy only.	\$ 126.00/test	16 TESTS	\$ 1,512.00
4	Bacterial Testing on an as-needed basis	\$ 80.00/test	1 TEST	\$ 80.00
5	Polyfluoroalkyl Substance (PFAS) Test at the Monmouth County Fire Academy - Testing to be done on a quarterly basis.	\$ 325.00/test	4 TESTS	\$ 1,300.00
6	Various Sampling and Re-Testing on an as-needed basis Total Coliform	\$ 80.00/test	1 SAMPLE	\$ 80.00
Total of Group 1 (1-6) =				\$ 4,492.00

Group 1 Well Locations

Monmouth County Fire Academy - One (1) Well
1027 Highway #33 East
Freehold, NJ 07728

Monmouth County Highway Dept./District #7 - Two (2) Wells (#1 & #2)
231 Highway #539
Cream Ridge, NJ 08514

Monmouth County Highway Dept./District #10 - One (1) Well
690 Route #520
Marlboro, NJ 07746

**GROUP 2 - VARIOUS LABORATORY TESTING FOR THE MONMOUTH COUNTY
HEALTH DEPARTMENT**

Item #	Test Type	Cost per test for 5 or fewer tests	Cost per test for 6 or more tests
7	EPA METHOD 1600 ENTEROCOCCUS	\$ 36.00	\$ 36.00
8	EPA METHOD 1603 ESCHERICHIA COLI	\$ 31.00	\$ 31.00
9	FECAL COLIFORM SM 9222D	\$ 31.00	\$ 31.00
Additional Charges *			
Item #	Test Type	Total Price	
10	In the event court testimony is needed, please state hourly rate for court testimony	\$ 100.00 /hour	
11	If an additional Quality Control/Quality Assurance Package is requested, the fee to be charged for these reports will be computed at a cost of	\$ 100.00 /hour	
12	Surcharge for receiving emergency samples after normal working hours of 8:30 am-4:30 pm Monday through Friday	\$ 100.00	
Total of Group 2 (7-12) =			\$ 398.00

Group 2

Vendors are asked to provide pricing per test for 5 or less tests, and 6 or more. Various quantities will be requested throughout the course of the contract based on the Departments' needs.

The above mentioned "Additional Charges" will be used on an if and or as needed basis. The "Additional Charges" will not be used in determining the low bidder

**GROUP 3 – POTABLE WELL-WATER MONITORING FOR THE MONMOUTH COUNTY
PARKS SYSTEM**

Item #	Test-Type	Unit Price	Quantity	Total Price
13	Routine Coliform Analysis	\$ 60.00 /test	300 TESTS	\$ 18,000.00
14	Annual Nitrate/Nitrite Analysis	\$ 40.00 /test	50 TESTS	\$ 2,000.00
15	Repeat Samples – Any trigger source sample due to positive results	\$ 60.00 /test	15 TESTS	\$ 900.00
16	24-Hour Testing – cost per-test for any test requested to be done within 24 hours of obtaining the sample	\$ 60.00/test	8 TESTS	\$ 480.00
Total of Group 3 (13-16) =				\$ 21,380.00

Group 3

Please see the Group 3 specifications for a full list of Parks System locations.

Notes:

This bid will be awarded per group. All items within group must be bid in order to be considered for award. The low bid for each group will be determined by totaling all unit prices. However, the final award amount will not exceed department's budgetary amounts.